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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given  

therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nine and half  marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS  vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What are Kirchhoff‟s laws ? Explain Kirchhoff‟s 1st 

and 2nd law with examples. 

fdjpkWQ ds fu;e D;k gS \ fdjpkWQ ds izFke ,oa f}rh; 

fu;e dks mnkgj.k lfgr le>kb;sA 

2. State and prove Superposition theorem.  

v/;kjksi.k izes; dk izdFku nsdj bls fl) dhft,A 

3. Draw the input and output characteristics of common 

base configuration. What do you infer from these 

characteristics ? 

mHk;fu”B vk/kkj foU;kl ds fy, fuos’kh o fuxZe vfHky{k.k 

[khafp,A bu vfHky{k.kksa ls vki D;k fu”d”kZ fudkyrs gSa \ 

4. Explain metal oxide semiconductor field effect 

transistor. Describe the V-I characteristic curve of 

MOSFET with constant. 

/kkrq vkWDlkbM v/kZpkyd {ks= izHkko Vªk¡ftLVj dks le>kb;sA 

ekslQsV ds oksYVrk&/kkjk vfHkyk{kf.kd oØ dks fu;rkad ds 

lkFk crkb;sA 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain open circuit impedance parameters. 

[kqyk ifjiFk izfrck/kk izkpy dks le>kb;sA 

2. What is  Filter ? How does it work ? 

 fQYVj D;k gS \ ;g fdl izdkj dk;Z djrk gS \ 

3. What is feedback ? Why is negative feedback 

frequently employed in an amplifier ? 

iqufuZos’k D;k gS \ izo/kZd esa _.kkRed iqufuZos’k D;ksa 

ykHknk;d gS \ 

4. Explain Bipolar Junction Transistor. 

f}/kzqoh laf/k VªkaftLVj dks le>kb;sA 

5. Prove that : 

1
  

fl) dhft, fd % 

1
 

6. What are h-parameters ? Explain the advantage of  

h-parameters. 

h-izkpy D;k gSa \ h&izkpyksa ds ykHk le>kb;sA 
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7. Explain OR, AND, NOT and NOR gate with truth 

table. 

OR, AND, NOT  ,oa NOR }kj dks le>kb;s] lkFk gh 

lR;eku lkj.kh cukb;sA 

8. Explain Hartely Oscillator with diagram. 

fp= lfgr gkV~Zys nksfy= dks le>kb;sA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half 1
2

 mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk 1
2

vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. An electrical circuit containing impedances and 

generators is known as : 

(a) Mesh 

(b) Loop 

(c) Network 

(d) Complex circuit 

,d oS|qr ifjiFk ftlesa izfrck/kk,¡ rFkk tfu= gksrs gSa % 

¼v½ eS’k 

¼c½ ywi 

¼l½ uSVodZ 

¼n½ lfEeJ ifjiFk 



 [ 5 ] PH–07 

B-53 P. T. O. 

2. The relation between triode constant is : 

(a) R 1p mg   

(b) R /p mg   

(c) / Rm pg   

(d) R p mg   

Vªk;ksM fLFkjkad ds chp lEcU/k gS % 

¼v½ R 1p mg  

¼c½ R /p mg  

¼l½ / Rm pg  

¼n½ R p mg  

3. In N-Type semiconductor the valency of impurity is : 

(a) 1 (b) 3 

(c) 4 (d) 5 

N-izdkj ds v/kZ&pkyd esa v’kqf) dh la;ksftdrk gksrh gS % 

¼v½ 1 ¼c½ 3 

¼l½ 4 ¼n½ 5 

4. In a transistor the value of  is 100, the value of  is : 

(a) 0.01 (b) 0.1 

(c) 0.99 (d) 1 

,d VªkfUtLVj esa  dk eku 100 gS]  dk eku gksxk % 

¼v½ 0-01 ¼c½ 0-1 

¼l½ 0-99 ¼n½ 1 
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5. For Rectifying action, we use : 

(a) a choke 

(b) a transformer 

(c) a diode 

(d) a condenser 

fn”Vdkjh izfrfØ;k ds fy, ge fdldk iz;ksx djrs gSa \ 

¼v½ ,d pksd 

¼c½ ,d VªkUlQkWeZj 

¼l½ ,d Mk;ksM 

¼n½ ,d dUMsUlj 

6. Boolean algebra is essentially base on : 

(a) at symbols 

(b) at logic 

(c) at truth 

(d) at numbers 

cwyh; chtxf.kr fuf’prr% vk/kkfjr gS % 

¼v½ ladsrksa ij 

¼c½ rdZ ij  

¼l½ lR; ij 

¼n½ vadksa ij 

7. The arrangement shown in Fig. performs the logic 

function of : 

 

 

 

 

(a) AND gate 
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(b) NAND gate 

(c) OR gate 

(d) XOR gate 

fp= esa iznf’kZr foU;kl dk rdZ dk;Z gksxk % 

 

 

 

¼v½ AND gate ¼xsV½ 

¼c½ NAND xsV 

¼l½ OR xsV 

¼n½ XOR xsV 

8. Zener diode is used for : 

(a) Rectification 

(b) Amplification 

(c) Filteration 

(d) Stabilisation 

tsuj Mk;ksM fdlds fy, iz;ksx fd;k tkrk gS \ 

¼v½ fn”Vdk;Z 

¼c½ izo/kZu 

¼l½ fQYVj 

¼n½ LVscykbtslu 
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9. For a transistor, which configuration is most suitable 

for current or voltage amplification ? 

(a) CB 

(b) CE 

(c) CC 

(d) None of these 

oksYVrk ;k /kkjk izo/kZu ds fy, VªkaftLVj dks fdl 

vfHkfoU;kl esa iz;qDr djuk pkfg, \ 

¼v½ CB ¼mHk;fu”B vk/kkj½ 

¼c½ CE ¼mHk;fu”B mRltZd½ 

¼l½ CC ¼mHk;fu”B laxzkgd½ 

¼n½ buesa ls dkssbZ ugha 

10. Negative feedback is employed in : 

(a) Oscillators 

(b) Rectifiers 

(c) Amplifiers 

(d) None of these 

_.kkRed iqufuZos’k dk iz;ksx gksrk gS % 

¼v½ nksfy= esa 

¼c½ fn”Vdkjh esa 

¼l½ izo/kZd esa 

¼n½ buesa ls dksbZ ugha 
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